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08:45| &0 | s | 1.7 [ 28.3]63.0{{13:00] Bgnn [FitE| 2.4 [ 31.6] 54.0

09:00| €0 | FAE | 0.9 [ 28.6]62.0([14:00| BN | dt | 3.4 | 31.3]52.0

10:00| BN |EmE®E| 2.0 | 29.9| 57.0]|15:00| BN |dLdLE| 3.6 | 30.1] 57.0

11:00| BN |BEmE| 1.5 | 30.6| 53.0(|16:00] £ [tdt=E| 4.1 | 29.0| 57.0

12:00] BB |dbdbsE| 2.0 | 31.1 [ 54.0
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[BA#EH] 202048H228 (%) My EHE FILES
[FERAK] tE®RREERREBR 24-Wh BHE INAERER
~ ERET RERIEE
REEHR—KE
Z F [3335) REHEEFHFGE
14 2 fi 34 44 5 i 6 fir 74 8 fir
A/H g B K& /FiE i kKB FE K& /FiE K% /B i kK& FIR i kR KEFE K& /PR i kR KEFE e 8%
8/22 HB&EF g FEQ 12.87|Kfg &E®) sl gz (2) BHE T Q) 13.52 [ #a A F(3) 13.57 &8 EE (2) WA wE () 13.71#08 %37 (2) 13.79
100m E/HE bt ANET w/m Bt wme BRILEE BRiE
8/22 |#BLF =)l BEQ) 27.65 /NATTR 2 (3) 5 fE%H £F(3) 3 =4 12(2) 29.77 BRI () 30.01 A4 K3k (2) FA 17 (2) 30.34 K3 & () 30. 83
200m RHERMD FELIA Bt N5 LN L& ANET RERE
8/22 |HBEXRF BT EZHO) 2:39.66|m ) BEXE(1) 3 =R Bz (3) 0| il HEEEE (3) 2:40.97 42 BFZ (1) 2:41.03 = #&KR (1) AR BHF Q) 2:41.89 B 2 (1) 2:44.22
800m ®=i g ®=i EHERE L1 =) L1 SRILFEE
8/22 HEXKTF Z[R =i Q) 4:57.44 KH 15E(Q2) 185 =42 485k & (1) 5:18.42 F# BFn(1) 5:21.93 /h#k FHEE(1) RH# HEQ 5:23.78 1L E(2) 5:28.51
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8/22 |HBHF e Fik () 16. 15 E25 #F Q) 6 KA FE Q) 7 H$ KE®Q) 17.713| 5T BX0) 18. 18/ #)1l HE (3) hEE #WE2) 18.82 FLIL #ZFE(2) 19.11
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8/22 |#BERF &F FEH(2) 5.20(+2.7) | BE #(2) ) EA HK(Q2) ) BE#R REE (D) 4.54(+4.7) |BER %1 (2) 4.49(+3.6) i3 % (2 HAR BER Q) 4.45(+3.4) | ¥TIE BK (2) 4.33(+4.1)
EEHE IRk bt L1 ®i REFILE ®i MR EHERH
8/22 HEXF [N A 13.17| KA ®&F(2) .56 FR £H7Q) 6/hS HT Q2 7.79 @ OED(2) 1.52BA F&Q R BB Q 7.06 2K Hh7E(2) 6.87
At (2. 721kg) t=—= t=-= NHs 8 4 ] FIRER B =it BEr
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EHE b8k (CR) 12.05 &8 £/ &g 2014/07/05
R B
[ 1481 ®&AE +3.0 [ 248] ¥ +3.1
JE L-»] No. K kA i8R E%Z | [IE L-Y| No. £ kA ik EE
1 6/ 5831 ILE BZE(Q) 12.87 1 5 5331 L& &EN) 13. 71
Wy A HE faEh £ LR
2| 5 4741 KEE FE(Q) 12.92 2] 9] 5209/%n@E *H(2) 13.79
T3 73 IR 758 It AR
3| 3] 537831l #EH(2) 13.38 3| 8 5422/ KAR EE(2) 14.06
WY 45 HNET o 1t 12 4 ]
47 4] 5007|&@ ME®R) 13.52 47 4] 5734 $E®) 14.15
h35 17 /R YEAY tA 7B
5 7| 5739 K FEIH Q) 13.57 5/ 2| 5740|%& @M (3) 14.26
WES T #7BIE YWY #7BIE
6 9 581 &IE EE(2) 13.65 6 3 5481 4@ &/ EN) 14.36
h393 Uty me 45" H)h EHERER
71 8] 4770|%#%E Em(03) 13.82 71 7 4760|ZFEH EZ () 14.37
#4b5 7¥/ FELtILA hE L3 17 FeELtlLUA
8| 2 4743/%80 = (1) 13. 91 8| 6 5650/2RF BEH(2) 14.58
k) F 7H4 b3 Y E 49 E&ILE8
9 1] 4934 1RE BEQ 14.18 9 1| 4742|/k S (1) 14.85
FEAVARY tHFE vy bk IR
[ 348] X +1.7 [ 448] =X +5.9
JE b-»] No. K 4 kA B BE JE VY| No K 4 kA BniEE
1 9| 5776 33 I () 14.00 1 5 6170 k& EmR @ 14. 40
T34 Wt & VEAEVIRL EXHERE
2] 7 5207&E:E (2 14.10 20 9 6172|AE —1E() 14.48
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1] 3 5623 11O % (2) 14.17 1 7/ 5853 &8 E££(2) 14.13
179" F 744 it 4%4°D 321 E/ HA
20 7] 4935 K 25 (2) 14.38 2| 8| 5882[xl EHE(2) 14.17
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3] 2] 5120/ EZ() 14.77 3] 9] 5953|EF ERR(X) 14.22
1293 93 B 975" 45 3% JIEEER=
4] 6 8782 % VE() 14.90 4] 2 5012 B AB=(Q) 14. 86
un' 319 miEH Y N3 /N
50 1] 5646//N#k B£H (2) 14.98 5 5| 5958 #¥AME £ (2) 14.94
vy ¥ it Wy 31y G
6 5| 5323|FFH FH (1) 14.98 6 3 4790 FEFHx £(Q) 15. 41
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Thy EI B DNS MAT 3t Fi




HERF
100m
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JE| b-¥| No. K & iE%& Et - O] JE| b-¥ | No. K & R4 B mE
1 7| 6053)/hFk DETH(T) 14. 11 1 9| 5862 1L BE (1) 14.30
vy vy ILfE Y Y bt E/ HA
2 8 5388 1MTE E&H(1) 14. 49 2 4 5393/ 1lLF FixrE() 14. 38
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3 6 5667 @A Fil (1) 14. 62 3 5 5972/ #ER FREE®) 14. 65
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[ 94A] [&ELE +3.5 [ 10#48] &ELE +3.0
JE| b-¥| No. K & iE% B8k EE  JE -y No. K & iE% Rk HE
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2 3| 6044/ HEE (1) 14.55 2 5 5861 &A%k &) 14.92
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JE| b-¥| No. K & iE%& B %= | IE L-» No. K & iE% B wmE
1 8 5968 A+t ExE(1) 14. 21 1 2 5225 4¢ & K& (1) 15.30
43 /Y3 N s M 7v% B
2 4/ 5948 ZH BETE (1) 14.73 2 8 6034 &8 #FHFA) 15.35
YN 5 v JIEEER= hah 4 Fit
3 9 5777 BHd [HEE (1) 15.06 3 3 57718 KBA (1) 15.37
510 3y B e 15 744 ERE
4 5 8564|dk@m = (1) 15.16 4 9 5480 L5 RREE(1) 15.73
45 74 &/ A 43 1) REHRER
5 6 5235 ¥ ZEZ(2) 15. 31 5 7 4907 2B ®1EW) 15.94
My ap ¥ hoby 7rh sk
6 7 5957 IR &k (2) 15. 38 6 1 5765 LLs BEF(1) 16.18
B un'3 TH N s 4 va 7B
7 1 5357 ARER ¥y (1) 15.41 7 6| 6183 %R k& (2) 16. 23
Ny b/ BRI AL VOV ES EXMERE
8 2 5433 KiE EFIZE () 16. 06 8 4 8893 Hik H=E() 17.51
yh Wt 12 4 [F] 393 1 473 FRER
9 3 4908 ki =HE(1) 17.14 9 5 4912 tht EBE (1) 19. 69
1M 72 LisES Thh3 Il CisES
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1 7| 59834l < (1) 15.00 1 1/ 5183|B8 #&3E (1) 15.06
3347 #93 Fi ¥ £43 =it

2 4] 5226 ¥¥% (1) 15.28 2| 3] 5973[IE@m = (1) 15.20
h/9 38 Bk ¥4 319 JIEEER=

3 5| 5829 AR #&1EW) 15. 46 3 7| 5485 BiA Fk (1) 15.35
bk a%h /) HE DEEh Uty REHRER
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7 3121 BE/HR ZYh3 Y9h Fi
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1 4) 4883 FEMH Y%E(1) 14.91
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2 1] 5184 [ux #EZ(1) 15.08
TYEh 74 =it

3] 7] 5392|#mE E£Z=() 15.23
hos 1%t HNET

4 6 5839 FE#H &F() 15.93
E3N ¥y 295 EIHE

5 5/ 6062 A EH(2) 15. 94
Vs LY L&

6 9 5934 MK =3k (1) 16.37
WES 747 N s

7 3] 5930 &# =@ (1) 16.63
134 ht JIIEEER=

8 8| 5933 A& EERE() 16. 71
b n 7Yk N s

9 2| 5980 BiF k&K (1) 17.24
NN 3Hn Bt




AL LL—A
UIEHE] No. E £ R E AT RS ingx (R) #wE | 4 |Igf
1] 5831l BE(2) B/ HE 2.87 (+3.0) 1
2] 4741 KEE &HE) Iim 2.92 (+3.0) 2
3| 5378[Ail #EZk (2) HNET 3.38 (+3.0) 3
4] 5007|2 M h#E Q) i/ A 3.52 (+3.0) 4
5| 5739|#MA FEH Q) Bt 3.57 (+3.0) 5
6] 5881|Fle =F(2) [ AN 3.65 (+3.0) 6
7] 5331[1hA FE (1) A A 3.71 (+3.1) 21 1
8] 5209|# 1A *H(2) AR 3.79 (+3.1) 2 2
9] 4770|F#E ¥ Q) FE LA 3.82 (+3.0) 1
0] 4743[F0 == (1) i 3.91 (+3.0) 8
1] 4881[F:E E@ (1) i 3.92 (+3.0) 10
2| 5776[3EFH HAER (2) EE 4.00 (+1.7) 3
3| B422| KA {HE (2) 12 4 [ 4.06 (+3.1) 2] 3
4] 5207|i%E:% #(2) AR 4.10 (+1.7) 3| 2
5] 6053[/hik DETH (1) L& 4.11 (+2.9) 71 1
6] 5852|fETr FE (2) &/ 4.12 (+1.7) 3] 3
7| 5853[iEiE E& (2) &/ FF 4.13 (+2.5) 6 1
8| 5734[FJIl #&(3) Bt 4.15 (+3.1) 2| 4
9] 5623[JIIO 2 (2) Bk 4.17 (+4.0) 51 1
9] 5882[LLl 3 (2) TNA 4.17 (+2.5) 6 2
21| 4934[1EE HE (2 A% 4.18 (+3.0) 9
22| 5968[ AR+ ££ (1) EE) 4.21 (+3.4) 1 1
23| 5953[ EF ERE (1) EE) 4.22 (+2.5) 6] 3
24| 5740/ X E HME(3) Fetid 4.26 (+3.1) 2 5
25| 5118|AH & (2) HhE 4.27 (+1.7) 3| 4
26] 5862[1lLE B (1) &/ HF 4.30 (+2.4) 8| 1
27| 5116[%:2 &5 (2 B 4.31 (+1.7) 3] 5
28| 5481[41H &/ £ (1) EH RS 4.36 (+3.1) 21 6
29| 8712[=Z& Foh (1) Bk 4.37 (+3.5) 9] 1
29| 4760 Eﬁ wE ) FELEILA 4.37 (+3.1) 21 7
31| 4935[ XKtk 5 (2) i 4.38 (+4.0) 5] 2
31| 5393[1lE FiRFE (1) HIET 4.38 (+2.4) 8| 2
33| 6170[.E1E =5 (2) EXHMERE 4.40 (+5.9) 41 1
34] 6172|aE —7E(2) EXAMERE 4.48 (+5.9) 41 2
35| 5388|ME =8 (1) HNET 4.49 (+2.9) ] 2
36] 6044/ HEE (1) L& 4.55 (+3.5) 9] 2
37] 5650/ A ¥ (2) EFIE 4.58 (+3.1) 2 8
38| 6180[1EM = (2) EXMERE 4.60 (+5.9) 41 3
38| 5981[Fith #HE (1) =ik 4.60 (+5.9) 41 4
40| 5667[EA Fpir(1) E L &R 4.62 (+2.9) ] 3
41| 5972[#2/F FIBE (1) nEE 4.65 (+2.4) 8| 3
42| 5302[1Lh HEHE (2) A A 4.67 (+1.7) 3] 6
42| 5426[# 1L B (2) 25 [E 4.67 (+1.7) 3 7
44] 5948z @ BETE (1) e 4.73 (+3.4) 1] 2
45| 5120[sBEE Z7= (1) B 4.77 (+4.0) 5] 3
46] 5932|F K X&E (2 nEE 4.81 (+2.9) 71 4
47] 5327[ALL MHE (1) BRILEE 4.82 (+3.5) 9 3
48] 4742[/h k8 S (1) i 4.85 (+3.1) 21 9
49| 5012[E+E AMB=E (2) /A 4.86 (+2.5) 6 4
49] 5478[)11i% FiZ (1) EH R 4.86 (+5.9) 415
51| 5354[@EME F#k (D) A2 e 4.89 (+2.4) 8 | 4
52| 8782[% L& (1) HmiaR% 4.90 (+4.0) 5| 4
53] 4883[FEMH #E() i 4.91 (+3.2) 15 | 1
53| 8804|=A& B (2) MR 4.91 (+2.9) 715
55| 5861[A%k & (1) &/ HFE 4.92 (+3.0) 0] 2
56| 5958[#AFE E#h (2) nEE 4.94 (+2.5) 6] 5
57| 5828]/hAE MEE (1) ' HE 4.97 (+2.4) 8| 5
58| 5646[/\#k BX B (2) EE4 4.98 (+4.0) 5] 5
58] 5956[%H #E (2) nEE 4.98 (+5.9) 416
58| 5323|3FH #E () B LIk 4.98 (+4.0) 5 6
61] 5983l =<5 () it 5.00 (+3. 6) 131 1
62| 6035|FE =) it 5.02 (+3.5) 9 4
63] 5183[FH &3k (1) =1t 5.06 (+4.4) 41 1
63| 5777|A 538 (1) EE 5.06 (+3.4) 113
63 604858 FEE (1) L& 5.06 (+2.4) 8| 6
66] 5184[1LuA #HZ (1) =1t 5.08 (+3.2) 5] 2
67] 8566|M0fE &5 (1) &/ HPE 5.12 (+3.0) 0] 3
68] 8714|tkmE E=E (1) EE4 5.14 (+3.5) 9 5
69] 8564[dtE = (1) &/ HP 5.16 (+3.4) 1] 4
70| 5654|@EE £ (2) EFIL 5.18 (+4.0) 51 7
71[ 5973[IEM =4k (1) nEE 5.20 (+4.4) 41 2
12| B921|2 5 EK(Q) =i 5.21 (+3.0) 0 4
72| 5850[FE &% (2) &/ HF 5.21 (+2.9) 716
74] 5392|wH FEZ= 1) HNET 5.23 (+3.2) 5| 3
75| 5226%F%F 2 (1) EE 5.28 (+3.6) 3| 2
76] 5225[st& X&) EE 5.30 (+3.5) 21 1
77| 5235|% KX (D) EiE 5.31 (+3.4) 1 5




KE £ ER E0sx (F) # [IE 4L
=Fﬁ 1) E& L &8 5.31 (+2.4) 8 1
RE =2 u.um 5.31 (+1.7) 3] 8
ﬁEI #HE Q) 5.35 (+3.5) 2 2
A Btk (1) Eﬁrif‘r& 5.35 (+4.4) 413
WA 81 L& 5.36 (+3.0) 0] 5
Al EEF D) ﬁ/ Eadic] 5.36 (+3.0) 0 6
ABA E1) 5.37 (+3.5) 2] 3
R Bk Q) J % 5.38 (+3.4) 116
TH EQ HHEF 5.41 (+2.5) 6] 6
BRE ¥/ (D AN SR 5.41 (+3.4) 11 1
B4XH B2 1) tHFE 5.43 (+5.9) 41 7
AR 1 (1) ' HE 5.46 (+3.6) 3] 3
X E#71) T HE 5.51 (+3.6) 3| 4
N SEHG () 1=.7cﬂ1l§,ﬁ% 5.54 (+3.0) 0| 7
LA #& (1) EXMERE 5.55 (+2.5) 6 7
NS BE (1) BR4R 5.56 (+2.4) 38| 8
£ 5% (1) /A 5.57 (+3.5) 9 6
FE FEQ HIET 5.58 (+3.5) 9 7
S|/l HE (D W/ AN 5.58 (+2.4) 8 9
st ATE (D it 5.62 (+4.4) 41 4
Atk E& (1) it 5. 66 (+3. 6) 3] 5
HH DEWA) &/ FFE 5.67 (+3.6) 3] 6
Tl #&F 1) GERVR L2 5.69 (+2.5) 6] 8
8 FEX0) EHERE 5.73 (+3.5) 121 4
BE E) =ik 5.75 (+2.5) 6] 9
EBE HLE (D) /" 5.82 (+2.9) 11 7
NE R (1D i/ A 5.88 (+4.4) 1415
BEXR EDPED EXHE 5.89 (+4.0) 5] 8
E&t #&Z 1) hEFE 5.91 (+3.5) 9 8
i EE 1) ' HE 5.93 (+3.2) 51 4
28 ) i 5.94 (+3.5) 2|15
Hif 52 LfE 5.94 (+3.2) 5 5
0 AR BEF (D) tHFE 6.03 (+5.9) 4 8
1 Ny xK#EWD) EE 6.04 (+4.4) 4 6
2 IR fE3E (1) =1t 6.06 (+3.6) 3 7
2 Sl () Bt 6.06 (+4.4) 41 7
2 AE FHED 2y [E 6.06 (+3.4) 1 8
5 e 5E 0 EXHE 6.10 (+5.9) 419
6 g 5+ (1) Fetid 6.18 (+3.5) 2 6
1 ZE BERE Q) EXHE 6.23 (+3.5) 21 7
8 ErRR BExE) =i 6.26 (+4.4) 41 8
9 WA B3 (1) nEE 6.37 (+3.2) 5] 6
20 =& FEHE ) EBEER 6.60 (+4.4) 41 9
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